Chapter 3 – In Class Group Problems

1. Use the following information to answer all parts:
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A. Compute private savings, public savings, and national savings.


Y – C – G = I


C = 250 +0.75(5000-1000)


C = 3250


Y – C – G = I


5000-3250-1000 = 750

Using the identity that S = I, National savings and investment  = 750

Breaking down national savings into private and public:

(Y – C – T) and (T – G) = I

Sp = Y – C – T ( 5000 – 3250 – 1000 = 750

Sg = T – G ( 1000 – 1000 =0

So private savings is 750 and public savings is 0

B. Find the equilibrium interest rate and graph the loanable funds market, be sure to label axis AND give the values for the intercepts:



I = 1000 – 50r



750 = 1000 – 50r



250 = 50r


So the interest rate is 5%

2. Using the same initial values, now suppose that G rises to 1250. 

A. What do we expect to happen to S and I (use your intuition)?

With expansionary fiscal policy increasing government purchases, we expect that Sp will remain the same, Sg will fall ( overall S will fall (shift left) which will cause r ( and I (
B. Compute Sp, Sg and national savings with the new level of G.


Y – C – G = I


C = 250 +0.75(5000-1000)


C = 3250


Y – C – G = I


5000-3250-1250 = 500

Using the identity that S = I, National savings and investment  = 500

Breaking down national savings into private and public:

(Y – C – T) and (T – G) = I

Sp = Y – C – T ( 5000 – 3250 – 1000 = 750

Sg = T – G ( 1000 – 1250 = -250

So private savings is 750 and public savings is -250

C. Find the new equilibrium interest rate and show graphically the loanable funds market, be sure to include axis labels AND values:



I = 1000 – 50r



500 = 1000 – 50r



500 = 50r


So the interest rate is 10%

So (S is falling, which is a decrease in savings (so the savings shifts left)
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I = 1000 – 50r

If r = 0, I = 1000

If r =20, I =0

When S1 falls to S2, demand for loanable funds is greater than the supply of loanable funds at the then current interest rate of 5%. This puts upward pressure on r. At 10%, S = I and the economy is back in equilibrium. The increase in G caused (S to fall and the interest rate to rise. Investment falls and equilibrium is restored.

3. Using the same initial values (shown in problem 1), now suppose that T decreases by 300. 

A. What do we expect to happen to S and I (use your intuition) and by how much??

We expect s (, r (, and I (, More or less than the increase in G?

Let’s see:

T falling causes 

1) disposable income to rise: Y – (T+(T)

5000 –(1000-300) = 5000-700 = 4300

2) Which causes consumption to increase by: MPC*(T = 0.75*300 = 225

C = 250 +0.75(5000-700) = 3475

3) What happens to National Savings?

S = I = (Y – C - (G = 5000-3475 – 1000 = 525

Which happens to show that National Savings decrease by the amount that C increases: here 225

(C was 3250-3475 = 3475)

Which is also found from MPC*(T = 0.75*(-300) = -225

Breaking this down into private and public savings:

Private:

(Y – C – T = 5000-3475-700 = 825 (which is 75 higher than before)

( disposable income increases by 300

( C increases by MPC*(T = 0.75*300 = 225

( but also, taxes fall by 300, which causes private savings to increase by 75

(T(MPC-1) = 75 is how much private savings increases by:

Public:

T – G = 700 – 1000 = -300

Since the decrease in public savings is higher (300) than the increase in private savings (75), the overall impact will be that national savings decreases by 225.

B. Find the new equilibrium interest rate and show graphically the loanable funds market, be sure to include axis labels AND values:
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Finding the equilibrium interest rate: 

I = 1000 – 50r = 525 ( 

R = 475/50 = 9.5%

I = 1000 – 50r

If r = 0, I = 1000

If r =20, I =0
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